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5,976 5,3 3,6

2,3 2,7 0,67

3,7 4,1 1,45



3,6 + 2,7 + 3,7 = 10 (дм)



Масса бобра (в кг)
      
             : 4 = : 4 =

8 Х 207 = - 1500 = 

+ 61 = 



Стоимость 100г жира бобра в 
рублях

                 - 106                  Х5                 - 106

                   
                    :4                  + 459

32 Х 5









Высота  и длина тела 
африканского слона

                             - 60
    
   Х4             + 25            Х5            + 60

             +                                 +

                    см                                см
     

125



Масса африканского слона ( в кг)

                 - 2000               - 5000

                                +

                                          кг

6500



Х – 17,005 кг = 2,995 кг

Х  Х  10  =  1500 л



Спасибо за урок.


